LON WLV UNT 2.1 Functions

1. Given P = {1,2,3 .10}, 1 1

0= {11,12,13 .. 20}, 3. If f) = 3757, then f57) =
Which of the following three relations from P A x.
to O illustrated in the graphs are mappings? B. x+1
» 1
(1) 20 ‘ C. .
- tee %
) { ; D. Tt
{ TGN W S A I W W .
= H | x+1
e E. 2
i1 tee [1978-CE-MATHS 2-37)
I 16
CIf fix) = X+ x+ 1, then flx+1) - flx) =
2 20
4 A. 1.
-4 B. 3.
i ,: i i C. 2x+1.
N . | D. 2x+2.
bt-4 E. xX*+x+1.
11 | {1 [1981-CE-MATHS 2-7]
i 1%
. JA - N - _
3) 20 If fix) =5"+1, then fix+1) - f(x)
: A, 1
SEalR B. 6.
r.! - - C. 4- Sx .
e | D. 5-5%.
E. 4-5+1.
1 [1982-CE-MATHS 2-29]
1 1i
(2) only . A function f(x) is called an even function if

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

=EORR

[1972-CE-MATHS B1-10]

s OO
2
] 15
a b G d X

X=1{ab,c,d}y. Y=1{1,2,3}.

In the above figure, which one of the lettered
circles should be blackened so that the graph
represents a map from X into ¥?

cH=NoN--I e
HTAm

[SP-CE-MATHS 2-56]

. If fix) = (log,y2x) — x, then f(x+ 1) - f(x)

f(x) = f(-x). Which of the following functions
is/are even functions?

1
M) f@ =7
@ @ =2
G £ =2

A. (1) only
B. (2) only
C. (3) only
D. (1) and (2) only
E. (2) and (3) only
[1983-CE-MATHS 2-37]

]

A. log,,2-1.
x+1
B. log,, -
10(x + 1
C. log, " .
x+1
D. log, Tox -
+1
E. log,~— -2

[1984-CE-MATHS 2-36]
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10. If

11. If

12. If

SN s mEOF P

mEO®p

=e 0 F»

Functions

f(2x) = 8> + 4x, then f(3a) =

94> + 6a.
124 + 6a.
27a* + 6a .
1084 + 6a .
216a° + 12a.
[1985-CE-MATHS 2-40]

fix) = x>+ 1, then fix-1) =
xz.

¥ -1.

X2+ 2.

X2 - 2x.

-2 +2.

[1987-CE-MATHS 2-10]

flx) = 3 + 2%, then f(2x) - f{x) =
2%,
=,
3 + 2.T .
2XQ2*+1).
2X(2° - 1).
[1988-CE-MATHS 2-34]

X
1—x

1
fv) = T, then f(7) =

—

— -
I= |
= —

=

=
|
—

=

—_
=11 |
= =

[1989-CE-MATHS 2-4]

f(n) = %n(n— 1), then f(n+1) - f(n) =

f(1) .

=
S

—_— NS

=

[1990-CE-MATHS 2-4]

13. If fix) = x -
A. 0.
B. 2x.
C. —2.
X
D. 2x-7)
E. 2 L
(-

X )

1
then fx) - (1) =

[1991-CE-MATHS 2-35]

14. If flx) = 10%, then f4y) =

A 10V,
B. 10°"7.
Cc. 10Y.
D. 407.
E. 407.

[1993-CE-MATHS 2-1]

15. If fix) = x>+ 2x, then fix—1) =

X2
X -1.

X+ 2x-3.
X2+ dx—1.

A
B.
C. +2x-1.
D
E

[1994-CE-MATHS 2-1]

16. If flx) = ﬁ then f()-lc)ﬂ—x) =

1
-5
-1.
1-x
T14x
X
D. —-
X
E. 21

[1995-CE-MATHS 2-35]

17. If fix) = 3x>+ bx+ 1 and flx) = f—), then

fi-3) =
A. -26.
B. 0.
C. 3.
D. 25.
E. 28.

[1997-CE-MATHS 2-27]
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18.

19.

20.

21.

22.

23,

Functions

If fix) = x*-3x-1, then fla) + fl-a) =

A. 24*.

B. 2d*-2.
C. 6a.

D. -6a.

E. -2.

[1998-CE-MATHS 2-2]

If fix)=2x>-1, then fla—1) =

A. a*-2a.
B. & -3a.
C. &*-3a-2.
D. &-1.
E. &-2.°

[1999-CE-MATHS 2-1]

Let fix) = 3x*> + ax - 7. If f{-1) =0, find
f(-2).

A, -27
B. -11
C. 3
D. 1
E. 13

[2000-CE-MATHS 2-4]

Let fix) = x> —x-3. If fk) =k, then k=

A 1.

B. -1or3.
C. 3orl.
D. —\/3 or\ﬁ.

[2002-CE-MATHS 2-2]

—

If fix) = 2% + kx — 1
then k =

and f-2) = f(3),

T O

3.
31

=
[2003-CE-MATHS 2-1]

o]
—

flx) = x> —x+ 1, then flx+1) - flx) =

0.
2.
2x .
4x .

SOwp

[2004-CE-MATHS 2-3]

24.

25.

If fix) = 22> -3x+ 4, then f(1) - f(-1) =

A. -6
B. -2
C. 2
D. 6

[2005-CE-MATHS 2-3]

) 1
If ) = 755, then TOR3) =

3
A. R

1
B. 5

3
C. Z
D. 1.

[2006-CE-MATHS 2-5]

26. Let flx) = x* — ax + 2a, where a is a constant.

If f(-3) =29, then a =

A. -38.
B. -20.
C. 4.
D. 4.

[2007-CE-MATHS 2-8]

27. Let fix) = x> + kx + 7, where k is a constant.

28.

29.

If f(4) - f(3) = 21, then k =

A. 0.
B. 4.
C. 14.
D. 28.

[2008-CE-MATHS 2-6]

Let fix) = x> — 9x + ¢, where ¢ is a constant.
If f(-1) =8, then ¢ =

A 2.
B. 0.
C. 16.
D. 18.

[2009-CE-MATHS 2-6]

If fix) = x> —3x+ 17, then 3f2) -1 =

A, 27.
B. 34.
C. 4.
D. 70.

[2010-CE-MATHS 2-6]

Past Paper Review (Multiple Choice)
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30. Let fix) = x>+ 2x + k, where k is a constant.
Find f{5) — f(3).

A. 20
B. k+8
C. k+35
D. 2k+ 50
[2011-CE-MATHS 2-8]

HKDSE Problems

31. Let k be a constant. If f{x) = 2x* — 5x + k,

then f(2) - f{-2) =

A. -20.
B. 0.
C. 16.
D. 2k.
[2017-DSE-MATHS 2-6]

2. Iff(x) =3x2—2x+ 1, then f2m—1) =

(2]

6m? —4m+ 2
6m?—4m+6
1Z2m? —16m+ 2
1Z2Zm? —16m+6

O 0w R

[2018-DSE-MATHS 2-7)

(73
2

. Let ¢ be a constant. If f(x) = x* + ¢cx? + ¢, then

f)+f(-c)=

A 0
2c
2¢% + 2¢

-2¢3 + 2¢

O oW

[2019-DSE-MATHS 2-8]

34. Let f(x)=3x?—-x—-2. If B is a constant,

fA+p-fA-g)=
2p

108

6B% — 2

68% —26p% -2

el i

[2020-DSE-MATHS 2-5]

Past Paper Review (Multiple Choice)
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Completing Squares

1.

Quadratic Graphs

Which of the following functions has its
minimum value of 3, when x =17

A y=(x-1?%-3
B. y=3-(x-1)7?
C. y=@x+1>+3
D. y=3-(x+1)
E. y=@x-17%+3

[1972-CE-MATHS B1-18]

What number should be added to the
expression 4x*> + 12x + 2 in order to make it
a perfect square?

A. 10

moaw
SN

[1979-CE-MATHS 2-48]

Properties of Quadratic Graphs

\ |} /
h
4
\ /
3
\[ | /
1
2 N[0 T 54
I
2
3
| |

The figure above shows the graph of
y = pr +tgx tr.

The value of r is

A, 2.

-1.
0.

=EOR

[SP-CE-MATHS 2-13]

a2 o[
[

The figure above shows the graph of

A y=(x+2)(x-3).
B. y=(x-2)(x+3).
C. y=(x-2)x-3).
D. y=-(x+2)(x-3).
E. y=-x-2)x+3).

[1979-CE-MATHS 2-36]

. The graph of y = x> + ax + b (a and b being

constants) cuts the x-axis at (2,0) and (k,0),
and cuts the y-axis at (0,-2). &=

A, 3.

meEOw
(=]

[1984-CE-MATHS 2-34]

. In the figure, the graph of y = x* + bx + ¢

cuts the x-axis at 4 and B. O4 + OB =
Y

\

0 A\/B

y=x*+bx+c

B POF R
60 °

ol ¢

[1987-CE-MATHS 2-9]

Past Paper Review (Multiple Choice)
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LON YL UNIT 2.2 Quadratic Graphs

7. The figure shows the graph of a quadratic D. y
function y = f{x). Given that the graph has
vertex (2, 18) and it cuts the x-axis at (5, 0),
find the quadratic function.

y
(2,18)
-s\\//z *

/[ o (5,00

/ \ R VA N
[\

A y=(x-2+18
(v )2
B. y=—-(x-2+18 [1995-CE-MATHS 2-41]
C. y=@x+D)x-5)
D. y=2x+1x-5) ‘
E. y=2x-Dk+5) 9. The figure shows the graph of a quadratic
[1989-CE-MATHS 2-45] function f(x). If the vertex of the graph is
(1,3), then flx) = '
8. Which of the following may represent the Ya 13
graph of y = —x* + 3x + 10? (1,3)
A. y
0 \ > x
2 5 " x
A 3(x-12%+3.
B. -3(x+1)7+3.
B Y, C. —(x-172+3.
D. —(x+1)+3.
E. 3(x-172-3.
[1997-CE-MATHS 2-34]
2 5 " x 10. In the figure, the graph of y = X - 6x+k
\ \/ touches the x-axis. Find k.
1
C. y \ |

\
Foo e

Past Paper Review (Multiple Choice)
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A k=20 12. Which of the following may represent the
B graph of y = x> + 2x = 3?
C. k=-9 A. £,
D. k=0
E. k=9
[1999-CE-MATHS 2-5] \: / >y
11. Which of the following may represent the
graph of y = x* - 3x - 18? B. ‘,?
i /
i \ -/
i 5
\CH 7 ’
>, ! // |
{
C. L A4
B -“l\ 4)/ > X
0 >x /
D L
|}i » .
| \\
i
§ 5 E
g — 3
(2 i A ol e
Y
D. "A _ i
/TN
[2000-CE-MATHS 2-39]
/ 13. The figure shows the graph of y = x> + bx +
c¢. Find b.
E. Y ]
/\\ ,,\
/ ” \ "
[1999-CE-MATHS 2-9] o]

Past Paper Review (Multiple Choice) P. 25



LLON YR UNIT 2.2

14.

Quadratic Graphs

-1

A 5
B. -5
C. 5
11
D. 2

[2002-CE-MATHS 2-5]

In the figure, the graph of y = 2x? —4x + ¢
passes through the point (1, %). Find the value
of k.

A y=2C~4x+c¢

»«\L’

N

(1, &)
A. -5
B. 4
C. -3
D. -2

[2004-CE-MATHS 2-5]

15. The figure shows the graph of y = f{x). If fix)

is a quadratic function, then f{x) =

A
/
_ /) =1
l."\\ f
\ /
\ ,; >
I /A g
\) /
L /
\._./

17.

18.

B. The equation of the axis of symmetry of
the graph is x=1.
C. The x-intercepts of the graph are -1 and
3.
D. The y-intercept of the graph is -3.
[2007-CE-MATHS 2-5

The equation of the quadratic graph shown in
the figure is

y=@x-1Dx-4).
y =t D+ 4.
y==22(x+1)x+4).
y=2x-1)x-4).

[2010-CE-MATHS 2-9]

FORP

Which of the following statements about the
graph of y = 25 — (x-3)* is true?

A. The x-intercepts of the graph are —2 and
8.

B. The y-intercept of the graph is 25.

C. The equation of the axis of symmetry of
the graph is x = -3.

D. The y-coordinate of the vertex of the
graph is 16.

[2011-CE-MATHS 2-7]

Areas in Quadratic Graphs

19.

In the figure, the equation of the curve is
y = (x-2)*> = 1. The curve intersects the x-
axis at 4 and B. C is the vertex of the curve.
The area of AABC is

1
A. 5(x+1)(x—4). f’
B. 2(x+1)(x-4).
1
C. E(x— x+4).
D. 2x-1)(x+4).
[2006-CE-MATHS 2-7]
16. Which of the following statements about the
graph of y = (x+1)*> — 4 is true? ol a 3 *
A. The coordinates of the vertex of the c
graph are (-1,4).
Past Paper Review (Multiple Choice) P. 26
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Quadratic Graphs

A 1. Sign of Coefficients in Quadratic Graphs
B. 15. y
C. 2. 22
D. 25.
E. 3.
[1985-CE-MATHS 2-35]
x
20. The curve in the figure is the graph of
y = —x* + bx + ¢. Find the area of the
rectangle OPOR.
y
The figure above shows the graph of
‘ y = ax* + bx + ¢. Determine whether a and ¢
R . are positive or negative.
/ A. a>0 and ¢>0
B. a<0 and ¢<0
C. a>0 and ¢<0
D. a<0 and ¢>0
E. it cannot be determined from the given
0 x data
[1980-CE-MATHS 2-32]
A. bc
B. »? 23. If a, b and ¢ are positive numbers, which of
’ the following is a possible graphical
c. ¢ representation of y = ax’ + bx + ¢?
D. b -4c A y
E. b +4c
[1996-CE-MATHS 2-41]
21. In the figure, the graph of y = 2x* — 9x + 4
cuts the x-axis at 4 and B, and the y-axis at
C. Find the area of A4BC. 5 x
1
\»‘\ _\':21: 9y + 4 B. J:
¢
\ ,
. N 0 g
0 .4\/}9 .
C. Y
A 4
B. 6 /\
X
c. 7 0 /
D. 8
E. 14 /
[2001-CE-MATHS 2-23]
P. 27
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24.

25.

Quadratic Graphs

D. Y

/

[1986-CE-MATHS 2-35]

y=ax?+bx+c

0

The figure shows the graph of y = ax’ + bx +
c¢. Which of the following is/are true?

(1) a>0

2) b>0

3) ¢>0

A. (1) only

B. (1) and (2) only
C. (1) and (3) only
D. (2) and (3) only
E. (1), (2) and (3)

[1987-CE-MATHS 2-39]

[N\

26.

27.

The graph of y =

ax* + bx + ¢ is given as

shown. Which of the following is/are true?

(1) a<o0
2) <0
(3) ¢<0

A. (1) only

B. (1) and (2) only
C. (1) and (3) only
D. (2) and (3) only
E. (1), (2) and (3)

[1990-CE-MATHS 2-31]

The figure shows the graph of y = ax® + bx +
¢. Which of the following is true?

YA

y-—-ax2 +bx+c

A. a>0,¢c>0
B. a>0, ¢c>0
C. a>0, ¢c<0
D. a<0, ¢c>0
E.

~
”

X

and b% - dac > 0
and b* —dac < 0
and b* — dac < 0
and b*> — 4ac > 0
a<0, c<0 and b* - 4dac > 0

[1998-CE-MATHS 2-12]

The figure shows the graph of y = -+ ax +
b. Which of the following is true?

A

A. a<0 and b<0
B. a<0 and >0
C. a>0 and <0
D. a>0 and >0

[2003-CE-MATHS 2-42]

Past Paper Review (Multiple Choice)

P. 28



GLON SRV N UNIT 2.2

Quadratic Graphs

28. The figure shows the graph of y = ax’ + x +
b. Which of the following is true?

YA

Y
yeax® +x+b

7\

a>0 and h<0
a>0 and h>0
a<0 and <0
a<0 and H>0

w WV

TORp

[2005-CE-MATHS 2-6]

29. The figure shows the graph of y = —(x+ h)* +
k. Which of the following must be true?

I A

y=~(x+h)? +k

/ hY
\©O

$g!

h>0 and £>0
h>0 and k<0
h<0 and k>0
h<0 and k<0

SORp

[2008-CE-MATHS 2-9]

HKDSE Problems

30. A

A
et

8 ‘._\ / 3
\ F 4

In the figure, the quadratic graph of y = f{x)
intersects the straight line L at A(l, k) and
B(7,k). Which of the following are true?

31.

32.

(1) The solution of the inequality f{x) >k is
x<1 o x>T7.

(2) The roots of the equation flx) = k are 1 —
and 7.

(3) The equation of the axis of symmetry of
the quadratic graph of y = f{x) is x = 3.

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

CPOFP

[SP-DSE-MATHS 2-8]

)

The figure shows the graph of y = ax* - 2x +
b, where a and b are constants. Which of
the following is/are true?

(1) a>0

2) b<0

(3) ab<1

A. (1) only

B. (2) only

C. (1) and (3) only
D. (2) and (3) only

[PP-DSE-MATHS 2-8]

The figure shows the graph of y = a(x + b)%,

where a and b are constants. Which of the
following is true?
N
—
-
0 X

y=a()c+b)2

Past Paper Review (Multiple Choice)
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33.

34.

35.

Quadratic Graphs

A. a>0 and >0
B. a>0 and b<0
C. a<0 and b>0
D. a<0 and <0

[2012-DSE-MATHS 2-6]

Let f(x) be a quadratic function. If the
coordinates of the wvertex of the graph of
y = fix) are (3,-4), which of the following
must be true?

A. The roots of the equation f(x) = 0 are
integers.

B. The roots of the equation flx) -3 = 0
are rational numbers.

C. The roots of the equation f(x) +4 = 0
are real numbers.

D. The roots of the equation fx) +5 = 0

are nonreal numbers.
[2012-DSE-MATHS 2-34]

The figure shows the graph of y = -2x* + ax
+ b, where a and b are constants. The
equation of the axis of symmetry of the graph
is

ﬂ\ /,ﬁ { -2x* +ax+b
O //11 3 ‘91'
/ \
/ \
/ \
10 i‘ \‘Ir
- ? \
/ \
[ \
A x=2.
B. x=23.
C. x=5.
D. y=28.

[2013-DSE-MATHS 2-7]

The figure shows the graph of y = mx’ + x +

n, where m and n are constants. Which of
the following is true?
YA
5
y=mx +x+n
>
\_/0/ ’

36.

37.

38.

A. m<0 and n<0
B. m<0 and n>0
C. m>0 and n<0
D. m>0 and n>0

[2014-DSE-MATHS 2-5)

Let flix) = 3x> — 6x + k, where k is a
constant. If the y-coordinate of the vertex of
the graph of y = f{x) is 7, then k=

A, 1.
B. 3.
C. 4.
D. 10.

[2014-DSE-MATHS 2-35]

The figure shows the graph of y = a(x+ b)?,
where a and b are constants. Which of the
following is true?

.\4

.\ 2.
\ y=alx+h)” /
\

O X
A. a<0 and <0
B. a<0 and >0
C. a>0 and <0
D. a>0 and >0

[2015-DSE-MATHS 2-8]

If -1 < a <0, which of the following may
represent the graph of y = (ax+ 1)’ + a?

/

A. N

Past Paper Review (Multiple Choice)
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Quadratic Graphs

Y

T~

[2016-DSE-MATHS 2-9]

39. The figure shows the graph of y = (px + 5)
+ g, where p and ¢ are constants. Which of
the following is true?

Tomp

p=<0
p<0
p>0
p=>0

S—-

and ¢ <0
and ¢>0
and ¢ <0
and ¢g>0
[2017-DSE-MATHS 2-9]

40. Which of the following statements about the
graph of y = 16 — (x — 6)7 1s true?

The graph cuts the y-axis.

The graph opens upwards.

The y-intercept of the graph 15 16.

The graph passes through the onigmn.

oW

[2018-DSE-MATHS 2-5]

41. Which of the following statements about the graph
of v = (3 —x}x + 2} + 6is/ are true?

1 The graph opens downwards.
1I.  The graph passes through the pomt (1,10).
III.  The x-intercepts of the graph are —2 and 3.

A. Ionly

B. Ilonly

C. land Olonly
D. HandIonly

[2019-0SE-MATHS 2-10]

Past Paper Review (Multiple Choice)
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Transformations of Graphs

Transformations of Graphs

1. Which of the following may represent the graph
of y = f{x) and the graph of y = f{x+1) on
the same rectangular coordinate system ?

A. A

y=1lx)

\
\ //x =f(x9
My
C. Ia
y=1) y=flx+1)
%) >y
D. A

y=flar+1) y =1

()1 >

[2007-CE-MATHS 2-38]

2. Which of the following may represent the graph
of y = f(x) and the graph of y = fix) +2 on
the same rectangular coordinate system?

A. FA
y=1(x)
3 y=f(x)+2
/ .
i of [t “x

B. ¥
y=1(x}+ '{,I‘“’”""'
—

y=f(x)

R
—

R
=]

&

y=f(x)

P
{ >
tf/ o “x

y=f(x)+2

- r/‘*""’;—:—{-(—;‘)—_

y >
i/ o x
[2008-CE-MATHS 2-37]
.“A,‘
| i
v o= f{x )./
151 /
\ /
\ /
\ s
O 6\ /2 x
7
\/

The figure above shows the graph of y = fix).
If f{x) = 3g(x), which of the following may
represent the graph of y = g(x)?

A A
\
\ v = g{x)
463§ i’
\ /,/
:‘.\l Sl/ N
0} 2\ 7 %

Past Paper Review (Multiple Choice)
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Transformations of Graphs

>
o} 2 ) X
\\—
C. Y
451 v =g(x)
i
\\
% §
= \\- 4/ >
o} 6\ /1 x
\\ /
\ \—//
D. YA
4
\
A v =g(x)
0| ¢ '31 “x
[2009-CE-MATHS 2-37]
4. YN ‘
\ ‘\,\ / /
Y / /
A V| / 4
\ \// /
\\\ p A\ 7/
\\ p V4 /
N, Nl
" +/ -\._AI_ ~
2 O ) x

Let f{x) be a quadratic function.

shows the graph of y = f{x) and
A. the graph of y = f{x-2).
the graph of y = fix+2).

fl—x).

B
C. the graph of y =
D. the graph of y = —f{(x).

[2010-CE

The figure

-MATHS 2-37]

5. Which of the

the graph of y = f{x)

following may

represent
and the graph of

y = flx —2) — 2 on the same rectangular

coordinate system ?

A. ¥a

\

,v=ru—2>—z\

[ y=1{x—2)-2

(—2.—2}
C. A
\ fy=f(x)
\ /
y=flx—2)-2 /
2.2}
0 2
D. Ay
y=f{x)
y=f(x—2)-2
(-2.2)
0 x

HKDSE Problems

[2011-CE-MATHS 2-37]
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If the figure shows the graph of y = flx) and
the graph of y = g(x) on the same rectangular
coordinate system, then

TORPp

The figure above shows' the graph of y = f{x).

Transformations of Graphs

gx) = flx-2) - 3.
gx) = fix-2) + 3.
gx) = flx+2)-3.
gx) = flx+2) + 3.
[SP-DSE-MATHS 2-37]
.‘/ \ B
TN 5
0 /E
27
/
/A’

If 2f(x) = g(x), which. of the following may
represent the graph of y-= g_(x)?

A.

A‘/

\

/

{}

—

¢ /'I . Y

yEpiar

V= gixi

D. A

47

0 /',

t;\ k

V=giy)

A

[PP-DSE-MATHS 2-31]

8. Which of the following may represent the graph
of y = fix) and the graph of y = fix-2) +1
on the same rectangular coordinate system ?

A.

y=1f{x—2)+]
B ¥\
C. Ly

y = f(x)

D. y=f(x-2)+!

A
y=f(x)

/

y=f(x-2)+1
>
A
y=f(x)
v
0 “x

[2012-DSE-MATHS 2-38]

Past Paper Review (Multiple Choice)

P. 34



LLON YL RN UNT 2.3

Transformations of Graphs

9. Which of the following may represent the graph
of y = flx) and the graph of y = 1 - fix) on
the same rectangular coordinate system ?

A. ."/P \
y=1(x)
O / \\ ‘\
/ \ y=1-£(x)
/ \
! ) \
3
B. A \ /
\ /
y=1(x) i'\ ’/
‘.\\ /,
\,
,,\.//
O //\\ g
\
/ \ .
/ \y:k—t(f;)
c.
[ /
i ‘;\ ’/ £
% fv=1(x
b /
;‘,'
S,
i / \
/ \ y=1-f(x)
/ \
:" \\
D. VA .
/
\
\ /' y=1(x)
\\\ //
O " ’.\‘
/
=1-f(x
)] (x) / \
/ \

[2014-DSE-MATHS 2-38]

10.

The figure above shows the graph of y = f{x).
If gx) = f(%), which of the following may
represent the graph of y = g(x)?

A. A
i
i 1 P | »
i
B. !
2 2
4 !
C.
3
# i
D.
l
Y S + Y »

[2017-DSE-MATHS 2-31]
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Transformations of Graphs

11. Let f(x) be a quadratic function. The figure
below may represent the graph of y = f(x) and

Y A

I /

the graph of y = —3f(x)

the graph of y = f(—3x)

the graph of y = —f(x + 4)
the graph of y = f(—x + 11)

TOF P

[2018-DSE-MATHS 2-31]
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Transformations of Axes

HKDSE Problems

. The graph in the figure shows the linear
relation between x and logsy. If y = ab",
then a =

log. v
/ p

/
< =
[ 5] !

TOwE
N L N -

[SP-DSE-MATHS 2-32]

. The graph in the figure shows the linear
relation between log, ¢ and log,x. If x = k9,
then k =

log . x/\
\‘\‘“ )
\‘\” |“,’v' f
- i‘ak\
N

A+
TR
B. 81.
4
C. 5
-5
D. 7

[PP-DSE-MATHS 2-37]

. The graph in the figure shows the linear
relation between x and log,y. If y = mn”,

then n =

log; y

J

-

/oo

A =
81"
1
B. 3.
C. 9.
D. 8I.

[2012-DSE-MATHS 2-32]

O X

The figure above shows the graph of y = ab",
where a and b are constants. Which of the
following graphs may represent the relation
between x and log,y?

logs 3
e A

v

/ o >1
7
log- ¥
B \/
\\
\\
N
,
O X
\
log-2
C ‘ y
\_ .
O X

D. log:y
AN
/ >
o) X

[2013-DSE-MATHS 2-32]
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Transformations of Axes

5. The graph in the figure shows the linear
relation between log,x and log;y. Which of
the following must be true?

logs ¥

™

: —_—
0 3 logsx
A X =729
B. x%* =729
C. X+y =729
D. X'+’ =729

[2015-DSE-MATHS 2-32]

6. The graph in the figure shows the linear
relation between x and loggy. If y = ab®,
then b =

logg y,

Fan

Y

A, 2.
1
B. 31
1
C. 3
‘D. 3.

[2016-DSE-MATHS 2-32]

7. The graph in the figure shows the linear

relation between x and \];1 Which of the
following must be true?

-

y=x*—4x+8
y=x*+4x+38
y = 4x* - 32x + 64
y = 4x* + 32x + 64

SEeR e

[2017-DSE-MATHS 2-33]

8. Inthe figure. the straight line L shows the relation

between log, x and log, y. It s given that L passes
through the points (1,2) and (9,6). If y = kx°.
thenk =

1
xl‘lg5 3

¢ log, x

GO L B3| |

o w

[2018-DSE-MATHS 2-33]

9. It is given that logg ¥ is a linear function of log; x.
The intercepts on the vertical axis and on the
horizontal axis of the graph of the linear function
are 7 and 8 respectively. Which of the following
must be true?

A xYy? =3%¢
B. x7y*=3%
C. xTy® =3%
D. x°y =3

{2019-DSE-MATHS 2-31]

10. The graph in the figure shows the linear relation

between x° and [y Ifx =2,y =

; o
A 3
B. 8
c 9
D. 33

[2020-DSE-MATHS 2-34]
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